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fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
X R & JE 10. 00| AHxf 50 500 756 475 324
[ B | 1000 fxt| 2000 2,900 810 626 432
N EE L 10. 00 | #H%f 10 100 626
gE | 1000 fr| 74l 1,740 o72| 627 216
ZiED a4 10. 00 | #H%f 31 310 2,808 2,447 11
R (r— 5. 00| FHxf 43 215|  4,644| 3,471 756
H X O 13. 00| fHxf 200 2, 600 864 675 432
X H D e JE 12. 00 | #H%f 637 7,644 2,052 947 432
1T NAEL w5 4. 00| fHxf 36 144 2,376| 2,028| 1,728
H % ol 3. 00 [ FH %} 296 888 1,998 1,075 648
H A i [ | 1.00| AHxE 270 270 756 469 216
% )| s.o00| x| 20| 100 2,160 1,890 1,620
A R 2. 00 [ FH %} 165 330 1,080 908 540
@ [ 0.30 fxt| 250 6| 167| 155 151
LFEL {r 4. 00 | FH%f 222 888 1,080 952 756
[N w5 5. 00 | FHx} 594 2,970 2,484 1,902 972
~NF b= b S 0. 20 | FHx} 360 72 108 97 76
& )| s.oolfExt| 1 o] 30| 1,512| 1,469| 1,404
R FoEk L 2. 00 [ FH %} 18 36| 2,160 2,124 1,944
H i (r 5. 00| AH %t 2 10 1,188
A—0 4 AbifE 10. 00 | 4B} 21 210 2, 754
S5 - AbiEiE 20. 00 | #H 5%t 180 3,600 4,968 3,552 2,700
& % | 10,00 fxr| 70| 700] 3,078| 2,584| 2,484
L& 2 e fE 10. 00 | #H%f 464 4,640| 3,240 2,535 756
Y=L X R f& [l 4. 00| AH%F 645 2,580 1,620 1,267 1,080
Tuyal— 8 R | 6.00| 161 966 2,808 2,632| 2,052
% )| 600 x| 88| 228 2,916 2,848 1,944
AEMEE (i 0. 10| #Hf [ 3,900 390 173 110 65
ZDEH £ ¥ 0. 20 [ #H %} 900 180 71 63 54
LU £ ¥ 0. 20 [ #Hx} 300 60 86




ID:1210 P- 2
P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A FI044£01 H 22 H eI Dt e/ 30 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]
38 Foak L 10. 00 | #H%F 1,275 12,750 4,536 2,736 648
VA 1 Ak L 10. 00 | ¥H % 200 2,000 2,376| 2,214| 2,160
5 U H & 10. 00 | #H%f 96 960 4,860 3,860| 3,078
Vafa—)L iR 10. 00 | Hx%f 4 40 3, 888
Avava 7 4 U ¥ | 13.00]| A%t 111 1,443 3,780 3,067| 1,080
T AT E— = R 0. 27| FHxf 336 89 432 311 216
bEELS & 0. 27| FH%} 1,672 452 702 619 518
S X & 0. 25| FHx} 5, 693 1, 434 540 428 270




